
 
2.6.11
TTtextstates that ore dimensional systems cannotoscillate Clearly
thesystem Mii Kx oscillates anddescribesthe notionof
a particle in one dimension

The resolution ofthis apparent paradox comesfromthefact
thatthis system doesn'tmeet ourdefinition of onedimensional

g Hq
Let X X XE ii Then wehave thesystem
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so we implicitly hada twodimensionalsystem

26.2
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by
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We then consider

fix da dt f xn Htt
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tf dat did x dt fact xCt HxHDHt
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We have two cases

Case 1 K O Xlt const This means that

Xlt X tts for all SECO T which is

a contradiction

Case 2

fast x
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However
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dd Cx fd f Cdt



In CHD Xlt DE't Honeuer
this violates our assumption that Xlt T Xlt

Hence we conclude that xD can'tbe periodic By


